
Door Closer Bracket - 1

Front Door Brace - 1

Doors - 2

Cart Panel - Left - 1 Cart Panel - Right - 1

Rear Panel - 1

Bottom Shelf - 1

E.I. Module Step 9.2

Model 
R50CC1617

P/N 80027263

 
2531 CS 0004

ASSEMBLY INSTRUCTIONS

20 - 2 -

2.1 x16

2.2 x2

2.3

2.4

Tank Brackets - 2

HAND TIGHTEN ONLY!

FULLY TIGHTEN ALL BOLTS AFTER 4.3!

4 -

3.1 x2 3.2 x2

4.1

4.2 x6

4.3 x9

2.5 x2

2.6 x2

11 mm

1/4-20x5/8” Hex Bolt - 49 #8-32x3/8” Screw - 18 Hose Clip - 1 1/4-20x1/2” Screw - 1 1/4-20 Nut - 1

Tools Suggeted:

11 mm

5

5

15 -



1 -1 - 2

a

b

c

9.2

B - Connect 2 large wire connectors.

A - Connect four small wire connectors.

ba

Wire Connections

X4

X2
9.1

9.3

9.4

12 - 4 -

5.1

5.3 x8
5.2

5.4 x4 6.1

6.2 x4

6.3 x4

7.1

7.2

7.3 8.1

8.27.4

9 10

Before first 
use, please 
read all safety 
and operating 
instructions 
contained in 
your Product 
Guide.

!

P

OOPP OP OP

11 1

11 mm

11 mm

11 mm

!P Outside

InsideP O
!

!


